	AB2016-0	06 COMFORT STAT	ION AT MERCER	COUNTY PARK FE	STIVAL GROUNDS			
DESCRIPTION	SAKOUTIS	J.H. WILLIAMS	SCOZZARI	LEVY	TRICON	RED OAK	VISION	DELL-TECH
GENERAL CONDITIONS	35,000.00	89,400.00	41,000.00	20,000.00	32,600.00	32,000.00	59,590.00	35,250.00
BONDS AND INSURANCE	7,500.00	16,000.00	8,800.00	20,000.00	9,600.00	23,000.00	16,800.00	19,500.00
MOBILIZATION	3,500.00	10,000.00	10,000.00	10,000.00	3,500.00	7,000.00	5,900.00	6,400.00
SITE PREP AND EXCAVATION	10,000.00	5,000.00	8,800.00	10,000.00	24,800.00	7,000.00	2,950.00	9,720.00
CONCRETE PAVING	5,000.00	8,000.00	6,500.00	10,000.00	8,200.00	8,500.00	60,888.00	9,450.00
CONCRETE SLAB AND FOUNDATIONS	22,000.00	30,000.00	31,000.00	40,000.00	51,000.00	48,000.00	16,312.00	29,970.00
CMU MASONRY	34,000.00	52,000.00	51,000.00	70,000.00	74,800.00	50,000.00	62,077.00	42,795.00
STONE VENEER MASONRY	5,250.00	10,000.00	4,300.00	10,000.00	14,100.00	6,000.00	3,304.00	4,050.00
CARPENTRY AND SHEATHING	24,500.00	15,000.00	58,000.00	40,000.00	33,700.00	40,000.00	61,894.00	55,755.00
INSULATION	3,500.00	2,000.00	2,300.00	6,000.00	2,800.00	10,000.00	12,508.00	10,665.00
SIDING AND TRIM	29,000.00	23,000.00	27,000.00	35,000.00	25,900.00	30,000.00	16,942.00	22,140.00
ROOFING	10,000.00	8,000.00	4,900.00	26,000.00	9,100.00	8,500.00	7,552.00	31,860.00
GUTTERS AND DOWNSPOUTS	2,900.00	2,000.00	3,000.00	5,000.00	2,100.00	4,875.00	1,888.00	5,400.00
DOORS AND FRAMES	5,500.00	10,000.00	11,400.00	15,000.00	7,700.00	9,000.00	11,505.00	38,610.00
WINDOWS	2,800.00	10,000.00	7,400.00	6,000.00	8,100.00	12,000.00	15,930.00	5,940.00
PAINT AND SEALANTS	7,500.00	20,000.00	26,000.00	10,000.00	3,300.00	22,500.00	11,800.00	17,955.00
PLUMBING	67,000.00	52,000.00	67,300.00	61,600.00	74,000.00	67,000.00	58,800.00	79,925.00
ELECTRICAL	25,000.00	44,000.00	37,000.00	50,000.00	56,700.00	54,000.00	44,800.00	59,800.00
MECHANICAL	25,000.00	32,000.00	32,000.00	30,000.00	35,100.00	40,000.00	49,882.00	78,200.00
DEMOBILIZATION	3,500.00	10,000.00	10,723.00	5,000.00	2,800.00	1,000.00	5,900.00	6,750.00
TOTAL	328,450.00	448,400.00	448,423.00	479,600.00	479,900.00	480,375.00	527,222.00	570,135.00
ALTERNATES								
ADD ONE: PROVIDE AND INSTALL THREE ADDITIONAL SINKS	3,275.00	4,000.00	2,800.00	5,300.00	2,800.00	3,300.00	3,500.00	6,900.00
ADD TWO: PROVIDE AND INSTALL RFP DOORS IN ALUMINUM FRAMES	8,440.00	7,000.00	7,000.00	11,300.00	6,750.00	7,000.00	16,940.00	5,400.00
GRAND TOTAL WITH ALTERNATES	340,165.00	459,400.00	458,223.00	496,200.00	489,450.00	490,675.00	547,662.00	582,435.00

				BID RESULTS						
				AB2016-07 PAVING PROJECTS FOR MERCER	COUNTY PARK COMMISSION					
				BID OPENING DATE: MARC						
				BID OF ENING DATE. MAKE	11, 2010					
PROJECT COMPLETION: 90 CD AND \$500.00 PER CD LD; MAINTENANCE BOND: 100% FOR TWO YEARS, UPON ACCEPTANCE OF PROJECT; ADDENDUM NO. ONE ISSUED; FUEL AND ASPHALT PRICE AD JUSTMENT IS APPLICABLE										
NUMBER OF BIDDERS	9									
NAME OF BIDDER	RICHARD T. BARRETT PAVING CO., INC.	LUCAS CONSTRUCTION GROUP, INC.	EARLE ASPHALT COMPANY	VISION CONSTRUCTION GROUP, INC.	SCHIFANO CONSTRUCTION CORP.	PROTECTIVE PAVING, LLC	MOUNT CONSTRUCTION CO., INC.	BLACK ROCK ENTERPRISES, LLC	TOP LINE CONSTRUCTION CORP.	
ADDRESS	400 PROSPECT STREET	173 AMBOY ROAD	P.O. BOX 556	10 LIBERTY STREET	1 SMALLEY AVENUE	12 KEARNEY DRIVE	427 S. WHITE HORSE PIKE	1316 ENGLISHTOWN ROAD	22 FIFTH STREET	
CITY, STATE, ZIP	TRENTON, NJ 08618	MORGANVILLE, NJ 07757	FARMINGDALE, NJ 07727	EDISON, NJ 08837	MIDDLESEX, NJ 08846	MILLTOWN, NJ 08850	BERLIN, NJ 08009	OLD BRIDGE, NJ 08857	SOMERVILLE, NJ 08876	
CONTACT	RICHARD T. BARRETT JR.	LIONEL LUCAS	WALTER R. EARLE II	GERARD CHIUSOLO	DALE SCHIFANO	WILLIAM L. FAMA	MICHAEL MAZZARELLA	JACQUELINE VALE	STEVE CASTELA	
TELEPHONE	609 882 2236	732 955 8300	732 308 1113	732 346 8000	732 356 4140	732 828 4177	856 768 8493	732 967 6400	908 231 7570	
FAX	609 396 0572	732 955 8301	732 308 1034	732 512 1800	732 752 3473	732 828 5440	856 753 1453	732 967 6402	908 231 7402	
E-MAIL	RICHARDTBARRETTPAVINGCOR VERIZON NET.	MARMSTRONGRILUCASCG.COM	BMEADREARLECO.COM	INFORVISIONGROUPING COM	DALE SCHEANOR SCHIFANOCONSTRUCTION COM	BILLSPROTECTIVEPAVING@YAHOO.COM	MMAZZARELLA RIMOUNTCONSTRUCTION.COM	INFORBLACKROCKNJ COM	SCASTELAGTOPLINECONSTRUCTION.COM	
BID BOND	AEGIS SECURITY INSURANCE COMPANY 10% NTE 20K	NATIONWIDE MUTUAL INSURANCE COMPANY 10% NTE 20K	FEDERAL INSURANCE COMPANY 10% NTE 20K	UNITED STATES FIRE COMPANY 10% NTE 20K	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 20K	WESTERN SURETY COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K	NORTH AMERICAN SPECIALTY INSURANCE COMPANY 10% NTE 20K	GREAT AMERICAN INSURANCE COMPANY 10% NTE 20K	
CONSENT OF SURETY	FERNANDA L. DEPAOLANTONIO AIF WITH POA	DAWN M. JONES AIF WITH POA	AIZA LOPEZ AIF WITH POA	WILLIAM J. PATERNO AIF WITH POA	JOHN G. REINER AIF WITH POA	JUDITH SAGATO AIF WITH POA	NEIL C. DONOVAN AIF WITH POA	DAWN M. JONES AIF WITH POA	DONALD GOETZ AIF WITH POA	
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
INSURANCE REQUIRED FROM AWARDED VENDOR										
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
PREVAILING WAGE CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
STOCKHOLDER DISCLOSURE	OK	OK	ОК	OK	OK	REQUESTED CLARIFICATION	OK	OK	OK	
EXHIBIT B	REQUIRED IF AWARDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	REQUIRED IF AWARDED	INCLUDED	INCLUDED	INCLUDED	
AA201 REQUIRED IF AWARDED										
PW CONTRACTOR REG.	615531 EXPIRES 3.7.18; COPY OF	650060 EXPIRES 3.14.16	18315 EXPIRES 5.5.17	689673 EXPIRES 5.27.16	11594 EXPIRES 2.12.17	604151 EXPIRES 6.16.16	685593 expires 6.5.16	667926 EXPIRES 2.8.17	614639 EXPIRES 5.12.16	
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
NEW JERSEY BUSINESS REGISTRATION	REQUIRED IF AWARDED	OK	OK	OK	OK	OK	OK	OK	OK	
BIDDER DEBARRED	NO	NO	NO	NO	NO	NO	NO	NO	NO	
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	NOT SIGNED, DATED	NOT INCLUDED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	
EQUIPMENT CERT	OK	OK	OK	OK	OK	OK	OK	OK	OK	
FIVE YEARS EXPERIENCE AND THREE REFERENCES	INCLUDED, PC TO REVIEW	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES	YES	YES	YES	
TOTAL BID	\$ 212,307.53	\$ 248,988.99	\$ 264,313.13	\$ 272,435.50	\$ 274,276.29	\$ 285,069.20	\$ 298,631.00	\$ 306,682.37	\$ 306,719.18	
ADD ALTERNATE ONE	\$ 48,741.22	\$ 46,011.00	\$ 54,000.00	\$ 66,760.75	\$ 52,948.10	\$ 63,541.20	\$ 69,749.00	\$ 54,981.43	\$ 58,113.72	
GRAND TOTAL COST	\$ 261,048.75	\$ 294,999.99	\$ 318,313.13	\$ 339,196.25	\$ 327,224.39	\$ 348,610.40	\$ 368,380.00	\$ 361,663.80	\$ 364,832.90	
EXCEPTIONS	YES, IEMS I.A. I.S, I.A. A. I.7 READY EPOXY - ADDIDUDAS STATES THAT THERMOPLASTIC WILL BE USED OUR PRICES FOR THEIR FIEMS ARE FOR THERMOPLASTIC NONE		YSS, SHOULD THE AWARD LOT'BE MADE WHITEN TO DAYS FROM THE BID OPENING, THE CONTRACTION RESERVES THEIR ROUT! TO NOT EXTEND THEIR BID CONSIDERATION, IN HE EVENT THE AWARD IS NOT MADE WHITEN TO DAYS, AUTHORIZATION FOR EXTENSION MIST BE GEVEN BY THE CONTRACTIOR		NONE	MATHEMATICAL ERROR LINE #16 AND TOTAL FOR ADD ALTERNATE ONE	NONE	NONE	NONE	
FATAL FLAW	NO	NO	NO	NO	NO	NO	NO	NO	NO	

ITEM	DESCRIPTION	NOM	UNIT	UNIT COST	TOTAL																
				BAI	RETT	LUCAS CO	ISTRUCTION	EARLE	ASPHALT	VISION CO	NSTRUCTION	SCH	FANO	PROTECTIV	VE PAVING	MC	DUNT	BLACE	ROCK	TOF	LINE
1	Mobilization - Over total project	LS	1	5,000.00	5,000.00	37,322.49	37,322.49	6,960.33	6,960.33	12,000.00	12,000.00	2,700.00	2,700.00	17,000.00	17,000.00	11,000.00	11,000.00	12,611.43	12,611.43	14,736.41	14,736.41
2	Milling 1-1/2"	SY	15760	2.45	38,612.00	2.00	31,520.00	3.50	55,160.00	4.25	66,980.00	2.75	43,340.00	4.20	66,192.00	3.50	55,160.00	4.36	68,713.60	0.01	157.60
3	Hot Mix Asphalt (I-5)	TON	1607	68.50	110,079.50	70.00	112,490.00	82.50	132,577.50	88.00	141,416.00	76.85	123,497.95	84.00	134,988.00	90.00	144,630.00	82.40	132,416.80	124.24	199,653.68
4	Hot Mix Asphalt Base Course Mix (I-2), if and where dire	TON	490	62.50	30,625.00	80.00	39,200.00	75.00	36,750.00	36.00	17,640.00	125.00	61,250.00	84.00	41,160.00	70.00	34,300.00	132.42	64,885.80	126.76	62,112.40
5	Concrete wheel stop	EA	11	80.00	880.00	80.00	880.00	90.00	990.00	150.00	1,650.00	288.75	3,176.25	225.00	2,475.00	185.00	2,035.00	75.00	825.00	78.75	866.25
6	Concrete Sidewalk 4" thick	SY	270	60.00	16,200.00	60.00	16,200.00	68.00	18,360.00	65.00	17,550.00	102.90	27,783.00	22.00	5,940.00	100.00	27,000.00	59.54	16,075.80	67.94	18,343.80
7	ADA Parking Space Signange, if and where directed	EA	5	310.00	1,550.00	160.00	800.00	360.00	1,800.00	450.00	2,250.00	288.75	1,443.75	350.00	1,750.00	225.00	1,125.00	150.00	750.00	157.50	787.50
8	Detectable Warning Surfaces	SY	2	250.00	500.00	400.00	800.00	245.00	490.00	300.00	600.00	210.00	420.00	425.00	850.00	225.00	450.00	200.27	400.54	134.39	268.78
9	Remove and Replace Eco Casting	EA	2	300.00	600.00	350.00	700.00	350.00	700.00	225.00	450.00	368.00	736.00	425.00	850.00	1,400.00	2,800.00	373.52	747.04	327.76	655.52
10	Dense Graded Aggregate Base Course, if and where o	TON	23	0.01	0.23	10.00	230.00	16.00	368.00	30.00	690.00	55.00	1,265.00	65.00	1,495.00	100.00	2,300.00	20.12	462.76	9.80	225.40
11	Topsoiling 6" Thick	SY	10	10.00	100.00	10.00	100.00	32.00	320.00	7.00	70.00	20.00	200.00	200.00	2,000.00	200.00	2,000.00	45.64	456.40	41.06	410.60
12	Fertilizing and Seeding, Type D	SY	20	2.00	40.00	2.00	40.00	0.60	12.00	3.00	60.00	1.00	20.00	100.00	2,000.00	15.00	300.00	10.82	216.40	0.22	4.40
13	Not Used																				1
14	Traffic Stripes, Long Life, Epoxy Resin (4" unit width)	LF	6330	0.60	3,798.00	0.65	4,114.50	0.75	4,747.50	0.75	4,747.50	0.63	3,987.90	0.65	4,114.50	1.50	9,495.00	0.60	3,798.00	0.63	3,987.90
15	Traffic Stripes, Long Life, Epoxy Resin (24" unit width)	LF	348	3.60	1,252.80	4.00	1,392.00	4.35	1,513.80	9.00	3,132.00	3.78	1,315.44	3.60	1,252.80	7.00	2,436.00	3.60	1,252.80	3.78	1,315.44
16	Traffic "STOP" Lettering, Long Life Epoxy Resin	EA	2	95.00	190.00	100.00	200.00	114.00	228.00	100.00	200.00	136.50	273.00	0.95	1.90	300.00	600.00	95.00	190.00	99.75	199.50
17	Traffic Symbol, Long Life, Epoxy Resin	EA	24	95.00	2,280.00	100.00	2,400.00	114.00	2,736.00	100.00	2,400.00	94.50	2,268.00	100.00	2,400.00	100.00	2,400.00	95.00	2,280.00	99.75	2,394.00
																					1
	TOTAL BASE BID				211,707.53		248,388.99		263,713.13		271,835.50		273,676.29		284,469.20		298,031.00		306,082.37		306,119.18
	FUEL ADJUSTMENT				\$200.00		\$200.00		\$200.00		\$200.00		\$200.00		\$200.00		\$200.00		\$200.00		\$200.00
	ASPHALT ADJUSTMENT				\$400.00		\$400.00		\$400.00		\$400.00		\$400.00		\$400.00		\$400.00		\$400.00		\$400.00
	TOTAL BASE BID				\$212,307.53		\$248,988.99		\$264,313.13		\$272,435.50		\$274,276.29		\$285,069.20		\$298,631.00		\$306,682.37		\$306,719.18
	ADD ALTERNATE ONE																				
2	Milling 1-1/2"	SY	4831	2.66	\$12,850.46	2.00	9,662.00	2.80	13,526.80	4.25	20,531.75	2.75	13,285.25	4.20	20,290.20	4.00	19,324.00	3.12	15,072.72	3.57	17,246.67
3		TON	493	69.32	\$34,174.76	70.00	34,510.00	78.00	38,454.00	88.00	43,384.00	76.85	37,887.05	84.00	41,412.00	95.00	46,835.00	77.47	38,192.71	79.25	39,070.25
14	Traffic Stripes, Long Life, Epoxy Resin (4" unit width)	LF	2060	0.60	\$1,236.00	0.65	1,339.00	0.75	1,545.00	0.75	1,545.00	0.63	1,297.80	0.65	1,339.00	1.50	3,090.00	0.60	1,236.00	0.63	1,297.80
17	Traffic Symbol, Long Life, Epoxy Resin	EA	4	95.00	\$380.00	100.00	400.00	93.55	374.20	300.00	1,200.00	94.50	378.00	100.00	400.00	100.00	400.00	95.00	380.00	99.75	399.00
	FUEL ADJUSTMENT				\$100.00		\$100.00		\$100.00		\$100.00		\$100.00		\$100.00		\$100.00		\$100.00		\$100.00
	TOTAL ALTERNATE	T			\$48,741.22		\$46,011.00		\$54,000.00		\$66,760.75		\$52,948.10		\$63,541.20		\$69,749.00		\$54,981.43		\$58,113.72
	BASE BID PLUS ALTERNATE				\$261,048.75		\$294,999.99		\$318,313.13		\$339,196.25		\$327,224.39		\$348,610.40		\$368,380.00		\$361,663.80		\$364,832.90

BID RESULTS

AB2016-08 PHASE 1 UTILITY WORK AT MERCER COUNTY PARK

BID OPENING DATE: MARCH 11, 2016

		ı	i			
PROJECT COMPLETION: 60 CD AND \$500.00 PER CD LD; MAINTENANCE BOND: 100% FOR TWO YEARS, UPON ACCEPTANCE OF PROJECT; ADDENDUM NO. ONE ISSUED						
	6					
NAME OF BIDDER	MAC ROSE CONTRACTORS, INC.	JOHN GARICA CONSTRUCTION CO., INC.	LUCAS CONSTRUCTION GROUP, INC.	MARLIN CONSTRUCTION SERVICES INC.	MOUNT CONSTRUCTION CO., INC.	VISION CONSTRUCTION GROUP INC.
ADDRESS	85 RIDGE ROAD	183 FRIAR LANE	173 AMBOY ROAD	442 WHITESVILLE ROAD	427 S. WHITE HORSE PIKE	10 LIBERTY STREET
CITY, STATE, ZIP	BROWNS MILLS, NJ 08015	CLIFTON, NJ 07013	MORGANVILLE, NJ 05571	JACKSON, NJ 08527	BERLIN, NJ 08009	EDISON, NJ 08837
CONTACT	LEE ROSENBERG	ANTHONY B. GARCIA	LIONEL LUCAS	JOSEPH A. PINKAVA JR.	MICHAEL MAZZARELLA	GERARD CHIUSOLO
TELEPHONE	609 893 8600	973 773 4544	732 955 8300	732 901 4441	856 768 8493	732 346 8000
FAX	609 893 2102	973 773 2977	732 955 8301	732 901 4449	856 753 1453	732 512 1800
E-MAIL	MACROSELEE@AOL.COM	JGARCIACONSTR@GMAIL.COM	MARMSTRONG@LUCASCG.COM	BRUCE@MARLINSCI.COM	MMAZZARELLA@MOUNTCONSTRUCTION.COM	INFO@VISIONGROUPINC.COM
BID BOND	FIRST INDEMNITY OF AMERICA 10% NTE 20K	COLONIAL SURETY 10% NTE 20K	NATIONALWIDE MUTUAL INSURANCE CO. 10% NTF 20K	BONDEX INSURANCE COMPANY 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTF 20K	UNITED STATES FIRE INSURANCE COMPANY 10% NTF 20K
CONSENT OF SURETY	MARGARET KELLY AIF WITH POA	PHILIP SHEPARD AIF WITH POA	DAWN M. JONES AIF WITH POA	PHILIP S. TOBEY AIF WITH POA	NEIL C. DONOVAN AIF WITH POA	WILLIAM J. PATERNO AIF WITH POA
INSURANCE REQUIRED FROM AWARDED VENDOR	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	
INDEMNIFICATION AND INSURANCE	SIGNED	SIGNED	SIGNED	SIGNED	SIGNED	SIGNED
ADDENDUM NO. ONE	SIGNED	SIGNED	SIGNED	SIGNED	SIGNED	SIGNED
IRAN CERT	ОК	OK	OK	OK	OK	OK
PREVAILING WAGE CERTIFICATION	ОК	OK	OK	OK	OK	OK
STOCKHOLDER DISCLOSURE	ОК	ОК	OK	OK	OK	ОК
EXHIBIT B	OK	OK	OK	OK	OK	OK
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED
PW CONTRACTOR REG.	614017 EXPIRES 6.11.2017	61868 EXPIRES 7.28.2017	650060 EXPIRES 3.14.2016	608418 EXPIRES 10.29.2016	605531 EXPIRES 6.5.2016	689673 EXPIRES 5.27.2016
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	OK	ОК
NON-COLLUSION	OK	OK	OK	OK	OK	OK
BIDDER DEBARRED	NO	NO	NO	NO	NO	NO
SAFETY CERT	OK	OK	OK	OK	OK	ОК
EQUIPMENT CERT	OK	OK	OK	OK	OK	ОК
FIVE YEARS EXPERIENCE AND THREE REFERENCES	CME TO REVIEW	CME TO REVIEW	CME TO REVIEW	CME TO REVIEW	CME TO REVIEW	CME TO REVIEW
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES
TOTAL BID	\$ 215,774.95	\$ 219,003.10	\$ 224,890.00	\$ 237,665.00	\$ 249,365.00	\$ 279,739.00
exceptions	REFERENCED N/A	NONE	NONE	NONE	NONE	NONE
FATAL FLAW	NO	NO	ON	NO	NO	МО

	AB2016-08 PHASE ONE UTILITIES AT MERCER COUNTY PARK FOR THE MERCER COUNTY PARK COMMISSION																							
ITEM	DESCRIPTION	QUAN	UNIT	UI	JNIT COST	TOTAL	UNIT COST	T COST TOTAL		UNIT COST TOTAL		TOTAL	UNIT COST		TOTAL		UNIT COST		TOTAL		UNIT COST			TOTAL
					MACI	ROSE	JOHN	GARCIA		LU	CAS			МА	RLIN			МС	TNUC	-		VISION		
1	Clearing Site (Maximum Bid Price \$15,000.00)	1	LS	\$	10,000.00	\$ 10,000.00	\$ 15,000.00	\$ 15,000.00	5 \$	15,000.00	\$	15,000.00	\$	15,000.00	\$	15,000.00	\$	9,000.00	\$	9,000.00	\$	15,000.00	\$	15,000.00
2	Excavation, Unclassified, Test Pits	10	CY	\$	100.00	\$ 1,000.00	\$ 0.01	\$ 0.10	5 \$	100.00	\$	1,000.00	\$	200.00	\$	2,000.00	\$	250.00	\$	2,500.00	\$	100.00	\$	1,000.00
3	Roadway Trench Repair	300	SY	\$	67.00	\$ 20,100.00	\$ 0.01	\$ 3.00	5 \$	25.00	\$	7,500.00	\$	80.00	\$	24,000.00	\$	55.00	\$	16,500.00	\$	89.00	\$	26,700.00
4	4" Gate Valve	2	UN	\$	500.00	\$ 1,000.00	\$ 800.00	\$ 1,600.0	5 \$	2,500.00	\$	5,000.00	\$	2,000.00	\$	4,000.00	\$	1,600.00	\$	3,200.00	\$	750.00	\$	1,500.00
5	8"x4" Wet Tap	1	UN	\$	3,000.00	\$ 3,000.00	\$ 9,500.00	\$ 9,500.0	5 \$	7,500.00	\$	7,500.00	\$	6,000.00	\$	6,000.00	\$	7,200.00	\$	7,200.00	\$	3,500.00	\$	3,500.00
6	Yard Hydrant including curb stop, 1% " copper type "K" service and all associated fittings and appurtenances.	1	UN	\$	3,500.00	\$ 3,500.00	\$ 4,500.00	\$ 4,500.00	5 \$	2,500.00	\$	2,500.00	\$	5,500.00	\$	5,500.00	\$	4,200.00	\$	4,200.00	\$	1,000.00	\$	1,000.00
7	4" PVC C-900 Water Lateral with Tracer Wire and all associated fittings and appurtenances	745	LF	\$	32.00	\$ 23,840.00	\$ 30.00	\$ 22,350.0	0 \$	25.00	\$	18,625.00	\$	58.00	\$	43,210.00	\$	45.00	\$	33,525.00	\$	50.00	\$	37,250.00
8	2" Type "K" Copper Water Lateral and all associated fittings and appurtenances	15	LF	\$	178.33	\$ 2,674.95	\$ 40.00	\$ 600.00) \$	25.00	\$	375.00	\$	143.00	\$	2,145.00	\$	200.00	\$	3,000.00	\$	40.00	\$	600.00
9	Sanitary Sewer Cleanout	4	UN	\$	250.00	\$ 1,000.00	\$ 200.00	\$ 800.00	5 \$	2,000.00	\$	8,000.00	\$	800.00	\$	3,200.00	\$	850.00	\$	3,400.00	\$	250.00	\$	1,000.00
10	Doghouse Manhole, 4' Dia, Sanitary Sewer	1	UN	\$	5,000.00	\$ 5,000.00	\$ 9,000.00	\$ 9,000.00	5 \$	10,000.00	\$	10,000.00	\$	6,000.00	\$	6,000.00	\$	7,700.00	\$	7,700.00	\$	6,000.00	\$	6,000.00
11	Manhole, 4' Dia, Sanitary Sewer	6	UN	\$	5,000.00	\$ 30,000.00	\$ 9,500.00	\$ 57,000.00	5 \$	10,000.00	\$	60,000.00	\$	6,750.00	\$	40,500.00	\$	5,300.00	\$	31,800.00	\$	5,000.00	\$	30,000.00
12	8" Sch. 35 PVC Pipe including Excavation, Bedding, Backfill, Compaction, and Restoration	2,020	LF	\$	55.00	\$ 111,100.00	\$ 45.00	\$ 90,900.0) \$	39.50	\$	79,790.00	\$	37.50	\$	75,750.00	\$	57.00	\$	115,140.00	\$	68.95	\$	139,279.00
13	4" Sch. 35 PVC Sanitary Sewer Service	230	LF	\$	12.00	\$ 2,760.00	\$ 25.00	\$ 5,750.00	5 \$	20.00	\$	4,600.00	\$	32.00	\$	7,360.00	\$	40.00	\$	9,200.00	\$	67.00	\$	15,410.00
14	Connect Existing Service to Proposed Main including all fittings and appurtenances	1	LS	\$	800.00	\$ 800.00	\$ 2,000.00	\$ 2,000.00	5 \$	5,000.00	\$	5,000.00	\$	3,000.00	\$	3,000.00	\$	3,000.00	\$	3,000.00	\$	1,500.00	\$	1,500.00
	<u>.</u>	•				\$ 215,774.95		\$ 219,003.1	0		\$	224,890.00			\$	237,665.00			\$	249,365.00			\$	279,739.00